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T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314
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a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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SOY o tan30° 4+ — U o] ke Fslofal,

cos60° sin 45 ° X cos 45 °
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6. TR 139 A sinx, cosx, tanx & S A2 F5}o] =t

Eh sinx =
EF: cosx =

7 EF tanx =
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(<, sin62° = 0.8829, cos62° = 0.4695,
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22| o A R 3iet)
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@ sin30° @ cos30° @ sin90°

@ tandb° ® tanb0°
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13. sin(2x-10°) = A, x O] 27 (H, 0° <x<45%)
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0° < x < 90° of th5}tod cos(2x — 10°) =
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18. T2 Z=tanA = %01 o, sin A —cos A O] ZF-22(H, 0° < A < 90°)
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